

ROMANIAN MATHEMATICAL MAGAZINE

In $\triangle ABC$ the following relationship holds:

$$\frac{m_a^2 + m_b^2 - c^2}{\sin^2(A) + \sin^2(B)} + \frac{m_a^2 + m_c^2 - b^2}{\sin^2(A) + \sin^2(C)} + \frac{m_b^2 + m_c^2 - a^2}{\sin^2(B) + \sin^2(C)} = 3R^2$$

Proposed by Ertan Yildirim-Turkiye

Solution by Mirsadix Muzefferov-Azerbaijan

$$\sin(A) = \frac{a}{2R}; \sin(B) = \frac{b}{2R}; \sin(C) = \frac{c}{2R} \quad (1)$$

$$\text{Also} \rightarrow \begin{cases} 4m_a^2 = 2(b^2 + c^2) - a^2 \\ 4m_b^2 = 2(a^2 + c^2) - b^2 \\ 4m_c^2 = 2(b^2 + a^2) - c^2 \end{cases} \quad (2)$$

Let's write the expression (1) instead

$$\begin{aligned} & R^2 \left(\frac{4(m_a^2 + m_b^2 - c^2)}{b^2 + a^2} + \frac{4(m_a^2 + m_c^2 - b^2)}{c^2 + a^2} + \frac{4(m_c^2 + m_b^2 - a^2)}{b^2 + c^2} \right) = \\ & R^2 \left(\frac{4m_a^2 + 4m_b^2 - 4c^2}{b^2 + a^2} + \frac{4m_a^2 + 4m_c^2 - 4b^2}{c^2 + a^2} + \frac{4m_c^2 + 4m_b^2 - 4a^2}{b^2 + c^2} \right) \stackrel{(2)}{=} \\ & R^2 \left(\frac{2(b^2 + c^2) - a^2 + 2(a^2 + c^2) - b^2 - 4c^2}{b^2 + a^2} + \frac{2(b^2 + c^2) - a^2 + 2(a^2 + b^2) - c^2 - 4b^2}{c^2 + a^2} + \right. \\ & \quad \left. + \frac{2(a^2 + c^2) - b^2 + 2(a^2 + b^2) - c^2 - 4a^2}{b^2 + c^2} \right) = \\ & R^2 \left(\frac{b^2 + a^2}{b^2 + a^2} + \frac{c^2 + a^2}{c^2 + a^2} + \frac{b^2 + c^2}{b^2 + c^2} \right) = 3R^2 \text{ (proved)} \end{aligned}$$